é é W @ * Lisdys enintddn 100 (vaaka)

Nimi: Paivimaara: _ Pisteet:
13+60= 70+ 17 =
46 + 48 = 6+ 44 =
35+ 19 = T2+42 =
69 + 69 = 73+32 =
14+97 = 13+70=
21+89= 13+3=
8§+99 = 45 + 64 =
61 +31 = 50 +75 =
13+77= 4+85 =
2+61 = 53+3=
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Lisdys enintddn 100 (vaaka)

Nimi:

13+60=73

46 + 48 = 94

35+19=54

69 + 69 = 138

14+97 =111

21 +89 =110

8+99 =107

61 +31 =092

13+77 =90

2+61 =063

Paivamaara: Pisteet:

70+ 17 =87

6+ 44 = 50

72+42 =114

73 +32 =105

13+70 = &3

13+3=16

45 +64 = 109

50+ 75 =125

4+85=289

53+3 =56
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